UNIDAD 6 — ECUACIONES

Pég. 89 1)

5=25 — x=2

(x=5Y =4 - x=7 6 x=3

3"=81 — x=4

31=81 > x=5

Nx+3=4 — x=13

x'=25 — x=4

X’ =400 — x=373I..

Ecuaciones de primer grado.

5x4+3(1-x)=12+2(x-95)
5x+3-3x=12+2x-10

2X+3=2+2X
2x-2x=2-3

0= —1 Falso, la ecuacion no tiene solucion.

3x=5[1-3(2x+4)]=3[1-4(x-1)]

3x-5[1-6x-12]1=3[1-4x+4]
3x-5(-11-6x)=3(5-4x)
3x+55+30x=15-12x
33x+55=15-2x
33x+2x=15-55

—40 -8
35x=-40; X~ =

35 7

2x—3_x+3_x—]

2 4 2
mz’n.cm.{2 A4 } =4
22x=3)-1(x+3) 2(x—1)

4 4
22x-3)-1(x+3)=2(x-1)
4dx—6—-x—-3=2x-2
Ix—9=2x-2

Lunes, 11 de mayo.

Ix—2x=-2+49



Péag 100

4a) 5(x-1)-6x+2=3(1-x)-(1-3x)
5x-5-6x+2=3-3x-1+3x
-Xx-3=2
—-x=2+3; —-x=5;, x=-5

5a)
1—-2x _x+4

9 6
min.cm{9,6}=18
2(1-2x) 18-1-3(x+4)
8 18
2—4x=18-3x—-12; 2—-4x=6-3x; —4x+3x=6-2; —x=4; x=—4

5b) y 6a)



